Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - I/II + EXAMINATION — SUMMER- 2017

Subject Code: 3326305 Date: 14 - 06- 2017
Subject Name: Surveying and Leveling
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)
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Q.1 Answer any seven out of ten. €Ml SEULRL Ulcteil weitet L. 14
Define Plane Table Survey.

ot eoled eyl Auendl.

List various methods used in plane table survey.

Wt 2oic Adagl selell Al wgudl.

Find reduced bearing of the following whole circle bearing:
a) 335° b) 200°

oAl Yalgd ARat A gcute AR Ui 3uid? s32.
u) 335° o) 200°

List the instruments use in chain and tape survey.

Alsn Ul 2U AL HL AUl Ulklell QU

Define surveying and leveling.

A U dAdag yxemaAl.

Define Reduced Level and Bench mark .

Asyes Add Ao UL AUl

Define Line of collimation and Axis of telescope.

Aot Ay slellAatot ua uellal g 2cllzslu wuendl.
Write types of bearing.

AR ol SR wQuUAl

Give uses of surveying.

Ul ot GUALN AWl

List the instruments used in Plane Table Survey.

ot 2ec AUdaigl oll Altolloll A€l vl
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Ditferentiate between Plan and Map. 03

Ledlol A o5l AL dAslald AWl 03
OR

(a)  Explain reciprocal ranging with sketch. 03

@) Ul qAuet ol {d sl we agldal 03

(b)  Write difference between Geodetic Surveying and Plane Surveying. 03
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Lot TRl UA AU A ULa)l dAal cAsleld AWl
OR
Explain different methods of chaining in sloping ground.
alaellel et uR As@ ad MUl ofl A wuom Al
Write classification of surveying.
el of aolsi s
OR
The length of a survey line measured with a 20 m chain was found to be 327
m. If the chain was 3 cm too long, calculate the true length of the line.

20 MleR <l disq a3 As witell ciotd Wudl A 327 e Hien
Wil wen ol wok udl 3 Uisn 3 cm aud cioll sl A Suiel
Al douds el

Explain principles of surveying.
Ul ol Ataidl yxes Al

OR
Write temporary adjustment of prismatic compass.

Auisella suid of UMl qnLlloset Ao Al

Write short note on local attraction.
s wsde @A gsellt el

OR
Write short note on contours..

Al Rl QA 2selll cvil.
Write difference between W.C.B. and R.B.
Yelgd ARoL AU gdule AR q2Aell dslad cul.

OR
Convert the bearings:
i) Convert F.B. 0f 120° into Back bearing
ii) Convert B.B. of 280° into Fore bearing.

ARaL 3uld? 53,
i) a3y AR 120° A usel ARSL Ui JuidR 53,
ii) usel ARl 280° A A AR ML 3Uict? 53
Enlist component parts of prismatic compass and state their functions.

Ausella 5wt ot uesloll A€l cvll W 3504 st2l wRUAL
OR
Write difference between Surveyor’s compass and Prismatic compass.

ddaisell sud U Quscla s dAell dsleld @il

The bearings of a closed traverse ABCDA are as under. Calculate included
angles and apply usual check.

Line Fore bearing Back bearing
AB S 40°30° W N 40° 30’ E
BC S 80° 00 W N 80° 00’ E
| CD N 20° 00’ E S 20° 00 W
| DA S 80°00” E N 80° 00> W
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GUHIAURWL ABCDA ofl AR oA wide B, 2ictold YR o oddl oy

5 Ul A WA 53\,

2uL Ay ARat usd ARat

AB S40°30° W N 40°30° E

BC S 80°00° W N 80° 00’ E

CD N 20° 00’ E S20°00° W

DA S80°00° E N 80°00° W
OR

The bearings of a closed traverse ABCDA are as under. Calculate included
angles and apply usual check.

Line Fore bearing Back bearing
AB 150° 15’ 330° 45°

BE€ 20° 30’ 200° 30°

(61D 295° 45 115°45°

DE 218° 00 38° 00’

EA 120° 30’ 300° 30°

GluHIARuL ABCDA ol AR o(lA wAet B. victold vau o 2l

53 U A5 WAL 3.

L A9 ARat us ARat

AB 150° 15’ 330° 45’

BC 20° 30’ 200° 30°

CD 295° 45’ 115°45°

DE 218° 00’ 38° 00’

EA 120° 30’ 300° 30°
Explain types of leveling.

AQ&RL oll USLRL UHM A

OR

Explain reciprocal levelling with sketch.

Al ol uat A ws e agld.

List out components of Dumpy Level. Explain their functions.

sl Qaa ot u2sloll ALEl vl U €350 512 wRUAL

Explain temporary adjustment of Dumpy Level.

sidl Aad of douMl AHLAwet AHsAl.

OR

The following consecutive readings were taken with a dumpy level along a
chain line at a common interval of 20 m. The first reading was taken on a
B.M., where the RL is 112.620 m. The instrument was shifted after 3.450 and
0.985 readings. Calculate RLs of all the points by Rise and Fall method.
2.375, 1.730, 0.615, 3.450, 2.835, 2.070, 1.835, 0.985, 0.435, 1.630, 2.255

and 3.630 m.

o(lAatl clUAiSl WMot UR £5a Bled A ussla wisaduwl Uz 204
UARAA UR lAAl B. YN cidelis AU HIE UR B B BAlR.L.
112.620 Hl &l BN 3.450 Ul 0.985 HL ciAetis Ul Qg2 s2cl

8. olll Wso2 ol R.L. Uslal-Guate{l fldell ol s3.
2,375, 1.730, 0.615, 3.450, 2.835, 2.070, 1.835, 0.985, 0.435, 1.630, 2.255
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and 3.630 m.

Give advantages and disadvantages of plane table survey.
Aot 2olet UTaQL ol SLAEL UA NRLAEL QU

Enlist the instruments used in plane tabling and give their uses.

et 2oict el oll Atlollofl A€l Wl WA Aetl GuaoN aucl.

Explain principle of Plane Table Survey.
ol 2ole ARl olt RQtklic qHA Al

Write methods of plane tabling and explain any one in detail.

WQot 2olet ARl s2cloll A woudl A 9 A As A wuesdl
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